
πρώτη δοκιμασία      τὸ ὄνομα__SAMPLE_____________ 

 

A. Write out all the letters of the Greek alphabet, lower-case in the first column and upper-

case in the second column. Unclear answers are wrong.   

 

1. _____ 

2. _____ 

3. _____ 

4. _____ 

5. _____ 

6. _____ 

7. _____ 

8. _____ 

9. _____ 

10. _____ 

11. _____ 

12. _____ 

13. _____ 

14. _____ 

15. _____ 

16. _____ 

17. _____ 

18. _____ 

19. _____ 

20. _____ 

21. _____ 

22. _____ 

23. _____ 

24. _____ 

25. _____ 

26. _____ 

27. _____ 

28. _____ 

29. _____ 

30. _____ 

31. _____ 

32. _____ 

33. _____ 

34. _____ 

35. _____ 

36. _____ 

37. _____ 

38. _____ 

39. _____ 

40. _____ 

41. _____ 

42. _____ 

43. _____ 

44. _____ 

45. _____ 

46. _____ 

47. _____ 

48. _____ 

49. _____ 

 



 

 

B. Fill in the blanks with the correct letter(s). Unclear answers are wrong. 

Use only lower-case letters. You do not need to write long marks over vowels.   

 

short α = _____ 

long ε = _____ 

short ω = _____ 

long ο = _____ 

short ι = _____ 

long ι = _____ 

short υ = _____ 

long υ = _____ 

 

α + ι = _____ 

ᾱ + _____ = ᾳ 

ε + ι = _____ 

η + _____ = ῃ 

ο + ι = _____ 

ω + _____ = ῳ 

υ + ι = _____ 

 

α + υ = _____ 

ε + υ = _____ 

ο + υ = _____  

 

α + α = _____ 

α + ε = _____ 

_____ + ο = ω  

α + _____ = ω  

α + ο = _____  

 

_____  + α = η 

ε + _____  = η 

ε + α = _____ 

_____  + ε = ει 

ε + _____  = ει 

ε + ε = _____ 

ε + _____  = ου 

ε + ο = _____ 

 

_____ + α = ω 

ο + _____ = ω 

ο + α = _____ 

ο + ο = _____ 

_____ + ε = ου 

ο + ε = _____ 
 

NOTE: The exam may have only a selection of the above and they may be 

randomized. These are all the possible variations that can appear on the 

exam.  



π + voice = _____ 

τ + voice = _____ 

κ + voice = _____ 

 

β – voice = _____ 

δ – voice = _____ 

γ – voice = _____ 

 

π + aspiration = _____ 

τ + aspiration = _____ 

κ + aspiration = _____ 

 

φ – aspiration = _____ 

θ – aspiration = _____ 

χ – aspiration = _____ 

 

π + σ = _____ 

τ + σ = _____ 

κ + σ = _____ 

 

ψ – σ = _____ 

ξ – σ = _____ 

 

_____ + σ = ψ 

_____ + σ = ξ 

 

π + _____ = ψ 

τ + _____ = σ 

κ + _____ = ξ 

 

_____ + δ = ζ  

σ + _____ = ζ  

σ + δ = _____  

 

nasal π = _____ 

nasal τ = _____ 

nasal κ = _____ 

 

liquid τ  = _____ 

liquid κ  = _____ 

 
 

NOTE: The exam may have only a selection of the above and they may be 

randomized. These are all the possible variations that can appear on the 

exam.  
 

 

C. Fill in the blanks with the correct word and letters. Use lower-case letters. Unclear answers 

are wrong.  

 

Greek words can end only with a __________, or _____ or ______ or _____.  


